

County Distribution Detail Report through 03/02/2021

Δu	rora

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,062	1,903	15	2,980	\$3,725.00	\$102.56	\$3,622.44	0.70	\$2,535.71
							Entity Tota	ıl:	\$2,535.71
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,535.71
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	3,542	9,775	261	13,578	\$16,972.50	\$363.91	\$16,608.59	0.70	\$11,626.01
							Entity Tota	d:	\$11,626.01
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$11,626.01
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	876	1,182	6	2,064	\$2,580.00	\$52.96	\$2,527.04	0.70	\$1,768.93
							Entity Tota	ıl:	\$1,768.93
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,768.93
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,782	3,861	12	5,655	\$7,068.75	\$143.38	\$6,925.37	0.70	\$4,847.76
							Entity Tota	ıl:	\$4,847.76
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,847.76
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2021	10,493	20,461	202	31,156	\$38,945.00	\$824.29	\$38,120.71	0.70	\$26,684.50
							Entity Tota	al:	\$26,684.50
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$26,684.50
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	9,097	24,966	496	34,559	\$43,198.75	\$928.09	\$42,270.66	0.70	\$29,589.46
							Entity Tota	al:	\$29,589.46
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$29,589.46
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	2,114	3,575	48	5,737	\$7,171.25	\$146.18	\$7,025.07	0.70	\$4,917.55
							Entity Tota	al:	\$4,917.55
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$4,917.55
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	537	482	4	1,023	\$1,278.75	\$38.67	\$1,240.08	0.70	\$868.06
							Entity Tota	al:	\$868.06
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$868.06
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	2,263	6,136	47	8,446	\$10,557.50	\$219.15	\$10,338.35	0.70	\$7,236.85
							Entity Tota	al:	\$7,236.85
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$7,236.85
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	654	1,381	11	2,046	\$2,557.50	\$52.48	\$2,505.02	0.70	\$1,753.51

							Adjustment:		\$0.00
							Total Amo	ount:	\$1,753.51
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	2,516	5,291	23	7,830	\$9,787.50	\$199.74	\$9,587.76	0.70	\$6,711.43
							Entity Tota	al:	\$6,711.43
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,711.43
City of Box Elder, Meade	Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	41	2,717	103	2,861	\$3,576.25	\$88.00	\$3,488.25	0.70	\$2,441.78
							Entity Tota	al:	\$2,441.78
							Adjustment:		\$0.00
							Total Amo	\$2,441.78	
City of North Sioux City,	Union Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	587	2,596	127	3,310	\$4,137.50	\$92.86	\$4,044.64	0.70	\$2,831.25
							Entity Tota	al:	\$2,831.25
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,831.25
City of Pierre, Hughes Co	0.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,490	11,074	678	13,242	\$16,552.50	\$348.00	\$16,204.50	0.70	\$11,343.15
							Entity Total	al:	\$11,343.15
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$11,343.15
City of Sioux Falls, Linco	oln Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	3,733	25,829	2,406	31,968	\$39,960.00	\$822.04	\$39,137.96	0.70	\$27,396.57

Entity Total:

\$1,753.51

							Adjustment:		\$0.00
							Total Amo	unt:	\$27,396.57
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,252	2,131	40	3,423	\$4,278.75	\$88.78	\$4,189.97	0.70	\$2,932.98
							Entity Tota	ıl:	\$2,932.98
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,932.98
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,611	7,225	238	9,074	\$11,342.50	\$242.22	\$11,100.28	0.70	\$7,770.20
							Entity Tota	ıl:	\$7,770.20
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$7,770.20
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	6,845	18,044	329	25,218	\$31,522.50	\$677.05	\$30,845.45	0.70	\$21,591.82
							Entity Tota	ıl:	\$21,591.82
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$21,591.82
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,045	725	260	2,030	\$2,537.50	\$53.23	\$2,484.27	0.70	\$1,738.99
							Entity Tota	ıl:	\$1,738.99
							Adjustmen	it:	\$0.00
Custon							Total Amo	unt:	\$1,738.99
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	3,138	5,612	41	8,791	\$10,988.75	\$247.25	\$10,741.50	0.70	\$7,519.05
							Entity Tota	ıl:	\$7,519.05

Entity Total:

\$27,396.57

Adjustment:	\$0.00

Total Amount:

\$7,519.05

\$0.00

Adjustment:

D	a	Vi	S	0	r	Ì

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	4,582	13,302	315	18,199	\$22,748.75	\$476.20	\$22,272.55	0.70	\$15,590.79
							Entity Tota	al:	\$15,590.79
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$15,590.79
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,880	3,363	32	5,275	\$6,593.75	\$134.39	\$6,459.36	0.70	\$4,521.55
							Entity Tota	al:	\$4,521.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,521.55
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,640	2,775	42	4,457	\$5,571.25	\$120.47	\$5,450.78	0.70	\$3,815.55
							Entity Tota	al:	\$3,815.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,815.55
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,131	2,110	7	3,248	\$4,060.00	\$86.04	\$3,973.96	0.70	\$2,781.77
							Entity Tota	al:	\$2,781.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,781.77
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,206	2,814	34	4,054	\$5,067.50	\$102.07	\$4,965.43	0.70	\$3,475.80
							Entity Tota	al:	\$3,475.80

raii Kivei									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	2,839	4,439	22	7,300	\$9,125.00	\$188.07	\$8,936.93	0.70	\$6,255.85
							Entity Tota	al:	\$6,255.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,255.85
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	688	1,431	13	2,132	\$2,665.00	\$54.52	\$2,610.48	0.70	\$1,827.34
							Entity Tota	al:	\$1,827.34
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,827.34
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,932	5,118	33	7,083	\$8,853.75	\$179.37	\$8,674.38	0.70	\$6,072.07
							Entity Tota	al:	\$6,072.07
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,072.07
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,613	3,484	5	5,102	\$6,377.50	\$141.44	\$6,236.06	0.70	\$4,365.24
							Entity Tota	al:	\$4,365.24
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,365.24
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	978	1,369	6	2,353	\$2,941.25	\$59.03	\$2,882.22	0.70	\$2,017.55
							Entity Tota	al:	\$2,017.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,017.55

Ham	lin
	••••

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,541	3,643	40	5,224	\$6,530.00	\$134.87	\$6,395.13	0.70	\$4,476.59
							Entity Tota	al:	\$4,476.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,476.59
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,002	2,586	35	3,623	\$4,528.75	\$96.46	\$4,432.29	0.70	\$3,102.60
							Entity Tota	al:	\$3,102.60
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,102.60
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	812	2,936	27	3,775	\$4,718.75	\$98.12	\$4,620.63	0.70	\$3,234.44
							Entity Tota	al:	\$3,234.44
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,234.44
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	660	846	2	1,508	\$1,885.00	\$48.21	\$1,836.79	0.70	\$1,285.75
							Entity Tota	al:	\$1,285.75
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,285.75
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	2,517	3,283	179	5,979	\$7,473.75	\$202.64	\$7,271.11	0.70	\$5,089.78
							Entity Tota	al:	\$5,089.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,089.78
Hutchinson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	2,726	4,868	54	7,648	\$9,560.00	\$207.34	\$9,352.66	0.70	\$6,546.86
							Entity Tota	al:	\$6,546.86
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,546.86
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	568	1,035	3	1,606	\$2,007.50	\$40.75	\$1,966.75	0.70	\$1,376.73
							Entity Tota	al:	\$1,376.73
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,376.73
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	603	823	4	1,430	\$1,787.50	\$36.04	\$1,751.46	0.70	\$1,226.02
							Entity Tota	al:	\$1,226.02
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,226.02
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	794	1,276	6	2,076	\$2,595.00	\$52.16	\$2,542.84	0.70	\$1,779.99
							Entity Tota	al:	\$1,779.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,779.99
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	506	623	5	1,134	\$1,417.50	\$28.47	\$1,389.03	0.70	\$972.32
							Entity Tota	al:	\$972.32
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$972.32
Kingsbury									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,171	3,763	57	4,991	\$6,238.75	\$137.36	\$6,101.39	0.70	\$4,270.97
							Entity Tota	l:	\$4,270.97
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$4,270.97
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	2,574	8,696	127	11,397	\$14,246.25	\$295.24	\$13,951.01	0.70	\$9,765.71
							Entity Tota	l:	\$9,765.71
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$9,765.71
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	7,136	16,348	209	23,693	\$29,616.25	\$616.74	\$28,999.51	0.70	\$20,299.66
							Entity Tota	l:	\$20,299.66
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$20,299.66
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	3,532	21,960	1,735	27,227	\$34,033.75	\$778.61	\$33,255.14	0.70	\$23,278.60
							Entity Tota	l:	\$23,278.60
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$23,278.60
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,063	1,756	218	3,037	\$3,796.25	\$82.67	\$3,713.58	0.70	\$2,599.51
							Entity Tota	l:	\$2,599.51
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$2,599.51
Marshall									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,480	2,805	13	4,298	\$5,372.50	\$110.81	\$5,261.69	0.70	\$3,683.18
							Entity Tota	ıl:	\$3,683.18
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,683.18
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,947	4,165	17	6,129	\$7,661.25	\$156.75	\$7,504.50	0.70	\$5,253.15
							Entity Tota	ıl:	\$5,253.15
							Adjustmen	t:	\$0.00
** DI							Total Amo	unt:	\$5,253.15
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	926	1,483	4	2,413	\$3,016.25	\$71.74	\$2,944.51	0.70	\$2,061.16
							Entity Tota	l:	\$2,061.16
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,061.16
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	3,268	17,673	164	21,105	\$26,381.25	\$570.90	\$25,810.35	0.70	\$18,067.25
							Entity Tota	l:	\$18,067.25
							Adjustmen		\$0.00
Mellette							Total Amo	unt:	\$18,067.25
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	549	693	0	1,242	\$1,552.50	\$31.04	\$1,521.46	0.70	\$1,065.02
							Entity Tota	ıl:	\$1,065.02
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,065.02
Miner									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	935	1,560	20	2,515	\$3,143.75	\$63.17	\$3,080.58	0.70	\$2,156.41
							Entity Tota	l:	\$2,156.41
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,156.41
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	38,597	142,371	4,731	185,699	\$232,123.75	\$5,007.38	\$227,116.37	0.70	\$158,981.46
12/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Tota	l:	\$158,982.34
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$158,982.34
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,212	4,458	61	5,731	\$7,163.75	\$164.90	\$6,998.85	0.70	\$4,899.20
							Entity Tota	l:	\$4,899.20
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,899.20
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	23,224	77,534	2,286	103,044	\$128,805.00	\$2,777.43	\$126,027.57	0.70	\$88,219.30
							Entity Tota	l:	\$88,219.30
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$88,219.30
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,663	2,210	12	3,885	\$4,856.25	\$107.38	\$4,748.87	0.70	\$3,324.21
							Entity Tota	l:	\$3,324.21
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,324.21
Potter									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,030	1,739	7	2,776	\$3,470.00	\$69.82	\$3,400.18	0.70	\$2,380.13
							Entity Tota	ıl:	\$2,380.13
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$2,380.13
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	3,112	5,097	16	8,225	\$10,281.25	\$228.99	\$10,052.26	0.70	\$7,036.58
							Entity Tota	ıl:	\$7,036.58
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$7,036.58
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	745	1,746	21	2,512	\$3,140.00	\$63.69	\$3,076.31	0.70	\$2,153.42
							Entity Tota	ıl:	\$2,153.42
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,153.42
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,743	4,375	23	6,141	\$7,676.25	\$158.22	\$7,518.03	0.70	\$5,262.62
							Entity Tota	ıl:	\$5,262.62
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$5,262.62
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	680	2,073	51	2,804	\$3,505.00	\$74.59	\$3,430.41	0.70	\$2,401.29
							Entity Tota	ıl:	\$2,401.29
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,401.29
Sully									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	590	1,143	5	1,738	\$2,172.50	\$44.17	\$2,128.33	0.70	\$1,489.83
							Entity Tota	l:	\$1,489.83
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,489.83
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	0	86	2	88	\$110.00	\$13.09	\$96.91	0.70	\$67.84
							Entity Tota	l:	\$67.84
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$67.84
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	2,235	3,933	21	6,189	\$7,736.25	\$159.93	\$7,576.32	0.70	\$5,303.42
							Entity Tota	l:	\$5,303.42
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,303.42
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	2,018	5,999	21	8,038	\$10,047.50	\$204.40	\$9,843.10	0.70	\$6,890.17
							Entity Tota	l:	\$6,890.17
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$6,890.17
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	2,492	10,735	546	13,773	\$17,216.25	\$401.05	\$16,815.20	0.70	\$11,770.64
							Entity Tota	l:	\$11,770.64
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$11,770.64
Walworth									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	1,848	3,528	188	5,564	\$6,955.00	\$142.94	\$6,812.06	0.70	\$4,768.44
							Entity Total	:	\$4,768.44
							Adjustment	::	\$0.00
							Total Amou	int:	\$4,768.44
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	4,779	15,564	346	20,689	\$25,861.25	\$559.98	\$25,301.27	0.70	\$17,710.89
							Entity Total	:	\$17,710.89
							Adjustment	:	\$0.00
							Total Amou	int:	\$17,710.89
Totals	195,445	580,584	17,112	793,141	\$991,426.25	\$21,310.49	\$ 970,115.76		